Title: “Harrison Bergeron”
Author: Kurt Vonnegut, Jr. 
Genre: science fiction short story (satire)
I. Brief Summary: (3-5 sentences)

II. Point of View: (and explain impact on story)
3rd person – narrator describes the action (he, she, they…)
Impact is that this allows us, as the reader, to know what everyone is 
thinking, and to see the different handicaps people wore. 
III.Setting: 


Time: 2081

Place: United States, city, in Harrison’s childhood home, 
TV station

Why/how is the setting important to the story? 
Explain. 


Had to be in a city because there is a variety of people, 
and they have a TV station. Needed to be a TV station so everyone 
could see what Harrison did. Had to be in the US so the reader could
understand that the people WANTED to be this way. Had to be in the

future so the Amendments could exist. 
IV. Conflict: man v. _______man/society________________      (explain what the main conflict is about in 1-2 sentences)


 Harrison does not want to wear his handicaps, and he wants to 
overthrow the government and free everyone from the handicaps. The 
government wants everyone to wear handicaps to make everyone equal. 
V. Protagonist: (describe physically and personality)


Harrison 
– very strong, tall, handsome




- smart, brave, rebellious
VI. Antagonist (describe physically and personality, 1-2 sentences)


Society/government – want advantaged people to wear handicaps 



so everyone can be equal, strict and vigilant

VII. Resolution (how do the conflicts get solved)
Harrison is killed for 
trying to free everyone.
VIII. Theme: (1-2 sentences): 

True equality is not a good thing when taken to extremes. 


Equality is in the eyes of the beholder, as everyone’s definition 



of equality is different. 

True equality, in every aspect, is not possible. 

